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T — VAR T — VAR
x : Bool — Bool,y : Bool - = : Bool — Bool x : Bool — Bool,y : Bool - y : Bool T _ APP
2 : Bool — Bool,y : Bool - zy : Bool T _ ABS T VAR
x : Bool — Bool - Ay : Bool.xy : Bool — Bool T — ABS x : Bool - x : Bool T — ABS
+ (Aw : Bool — Bool. Ay : Bool.zy) : (Bool — Bool) — (Bool — Bool) - Aw : Bool.z : Bool — Bool : T APP T TRUE
F fid : Bool — Bool = true : Bool T _ APP

F (fid) true : Bool
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T — ABS T — TRUE

Az : Bool — Bool.Ay : Bool.zy : Bool — ((Bool — Bool) — T) - true : Bool T APP before
F ftrue : (Bool = Bool) = T Fid: Bool = Bool ;. o,
F (ftrue)id: T



